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Part A: Grammar

Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3),

and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.

1- Not until the later Middle Ages ... a major construction material.
1) glass did become 2) did become glass 3) did glass become 4) glass became
2- I have no idea how ... the problem on my own; will you help me out?
1) could I deal with  2) can I deal with 3) dealing with 4) to deal with
3- My boots were three sizes ... for me; that’s why I gave them to my father.
1) such big 2) too big 3) much very big 4) big enough
4- Temperature, the simplest weather element to measure, is probably ... used than any other kind of data.
1) more frequently  2) most frequently 3) as frequently 4) frequently

5- A student in the first grade tends to be ... all of the other students in his/her class.

1) the same old than 2) the same old as 3) the same age as 4) the same age than
6- ... is bad for you is a popular misconception.

1) Too much exercise 2) Too much exercise which

3) Of too much exercise 4) That too much exercise

7- After losing her sister to cancer, Mary realized that ... .
1) wanting to be a doctor 2) being a doctor
3) wanted to be a doctor 4) she wanted to be a doctor
8- Although it is a large city, ... people live there.
1) few 2) a little 3)afew 4) little
9- I asked him when ... .
1) would the train leave 2) the train would leave
3) will the train leave 4) the train will leave
10- Not only ... in the field of psychology, animal behavior is examined as well.
1) human behavior is studied 2) is human behavior studied

3) is studied human behavior 4) has human behavior studied
\ /
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Part B: Vocabulary
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3)

and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.

11- All the teachers in his school ... him as the smartest of their students.
1) ensure 2) regard 3) refine 4) entrap

12- Before ... any further, we must define our terms now in order to clear up any misunderstandings.
1) implying 2) facilitating 3) proceeding 4) hesitating

13- The car is in a bad condition. We won’t be able to go on a trip if we don’t ... it.
1) solve 2) repair 3) heal 4) offer

14- Each member ... a different task and the project was successfully completed in less than a month.
1) underestimated ~ 2) underwent 3) undertook 4) undercharged

15- Though unwillingly, the little girl, scared of her mother’s reprimand, finally ... she had broken the window.
1) inclined 2) admitted 3) aspired 4) surpassed

16- Because of the heavy rainfalls, the river has ... and this may soon cause a severe flood.
1) swollen 2) evacuated 3) overturned 4) interrupted

17- 1 hope your father’s advice will ... you to change your mind about buying that old house.
1) consent 2) conceal 3) convince 4) confine

18- Plants keep cool during summer by ... water from their leaves.
1) boiling 2) evaporating 3) stealing 4) resisting

19- The group is persistently working to ... changes in the factory to provide safe working conditions.
1) pull over 2) set against 3) bring about 4) speak up

20- Companies are downsizing and offering older employees early ... .
1) amazement 2) management 3) retirement 4) appointment

21- All the people who have been disabled in their workplace are ... to a disability pension.
1) entitled 2) imposed 3) obtained 4) proposed

22- He feels ... to study medicine and become a physician as this is his father’s wish.
1) compelled 2) discounted 3) enclosed 4) prolonged

23- Officer Perkins said his men had found some ... at the scene of the crime that might help identify the killer.
1) clues 2) pangs 3) fingertips 4) pulses

24- He suffered a stroke in 1998, which left him unable to speak, but his mental capacity wasn’t ... .
1) dismissed 2) impressed 3) challenged 4) affected

25- The school is required to ... parents if their children fail to come to school.

1) contrast 2) discard 3) acquaint 4) notify
\\ /
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Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer

sheet.

26-
1) Bora Bora is an island where I would really like to see.
2) Bora Bora is the island that I would really like seeing.
3) Bora Bora is the island in which I would really like seeing.
4) Bora Bora is an island that I would really like to see.
27-
1) The 90-minute debate is divided into six parts, each 15 minutes long.
2) The 90-minute debate is divided into six parts, every of which is 15 minutes long.
3) The 90-minute debate is divided into six parts; each to which is 15 minutes long.
4) The 90-minute debate is divided into six parts, every of them is 15 minutes long.
28-
1) The quicker you give the answer, the better you can get marks.
2) The more quickly you give the answer, the better marks you can get.
3) More quickly you give the answer, better marks you can get.
4) The quickest you give the answer, the best marks you can get.
29-
1) This is the woman who Ann said that could show us the church.
2) This is the woman that Ann said who could show us the church.
3) This is the woman whom Ann said could show us the church.
4) This is the woman that Ann said could show us the church.
30-
1) A galaxy, where may include billions of stars, is held together by gravitational attraction.
2) A galaxy, where may include of billions of stars, is held together by gravitational attraction.
3) A galaxy, which may include of billions of stars, is held together by gravitational attraction.

4) A galaxy, which may include billions of stars, is held together by gravitational attraction.
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Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by choosing
one of the choices (1,2,3) or (4). Then mark the correct choice on your answer sheet.

A: Thanks for attending the interview Mr. Potter. We wish to make the best of your experience.
B: ...(31)... . I can’t wait to offer whatever help I can.
A: May I ask you to tell us about your recent research on the origins of language?
B: ...(32)...,1 just engaged in an interesting program about human language which, later on, stimulated me to focus
my studies on the origins of language.
31-1)Pleased to be here 2) Annoyed with it 3) That does it 4) It’s on my nerves
32-1) To begin with 2) No news is good news  3) Bite your tongue 4) God forbid
A: I just cannot believe you have written such nonsense on the boss’s door!
B: To tell you the truth, I didn’t. It was Lionel who wrote it.
A: The boss will ...(33)... you, however.
B: I would rather ...(34)... . Lionel is my brother after all.
33-1) be good news for  2) have the nerve for 3) take it out on 4) put a damper on
34-1) throw a fit 2) blow a fuse 3) carry the can 4) know my stuff
A: You look energetic today! What’s up?
B: My students finally managed to learn their lessons. It really ...(35)....
A: You know, if you become their friend, they will absolutely not ...(36)... .
35-1) ringed a bell 2) made my day 3) got away 4) put two and two together
36- 1) be after your blood 2) let you down 3) clutch at straws 4) be second to none
A: What happened? Where is Morgan?
B: ...(37)..., she committed a murder and was taken to prison.
37-1) Do as I say 2) My sentiments exactly  3) That’s out of reach  4) To cut a long story short
A: Have you heard Ron’s story?
B: Yeah. How annoying it is for him to be a police officer and forced to ...(38)... his own wife under arrest.
38- 1) make 2) take 3) get 4) have
A: How is Jane? I heard she was suffering from ill health.
B: ...(39)..., she is improving at the moment. She just needs to follow her doctor’s prescriptions.
A: T am happy to hear that. I was really feeling for her.

B: Don’t worry anymore. She will need a couple of days to ...(40)... and come back again.

39-1) Thank goodness 2) In the gutter 3) Not really 4) Mind your own
40- 1) recharge her batteries 2) feel off-color
3) know it inside out 4) teach her a lesson

N

forum.konkur.in



Y :dxé0

oL | paio

(29392 10) (590> pé (39031 )

N

4 &

Part E: Cloze Test

Directions: Read the following passage and decide which choice (1,2,3) or (4) best fits each space. Then mark the correct choice

on your answer sheet.

Asbestos is a type of mineral found in rocks that has a fibrous structure and so can be woven. Unlike other

flexible woven materials, it is capable ...(41)... withstanding very high ...(42)... , and at the same time
deflecting heat. Woven metal wire, for example, might do the first job, ...(43)... would not do the second. For
this reason, asbestos gloves, suits, and shields have been vital for ...(44)... in fire fighting. There are hundreds
of uses for asbestos in industry and ...(45)... . Asbestos can be ...(46)... with other materials, such as rubber,
graphite, paint, and cement, for special purposes that ...(47)... extra flexibility, slipperiness, coating quality, or
hardness. Asbestos is ...(48)... useful material that it was once found in almost all modern buildings and
machines. Modern industry has also ...(49)... from its uses as a material for electrical and sound insulation.
The ...(50)... properties of asbestos have led ...(51)... its continued but restricted use. In this century,
industries in the United States alone have used more than 30 million tons of asbestos. ...(52)..., after 1950,
health warnings about asbestos began ...(53)... . Its small fibers, so useful in other respects, could also be

inhaled and lodged in the lungs to ...(54)... a disease named asbestosis. This disease restricts normal breathing.

Chronic shortness of breath turns sufferers into invalids. Worse still, there is also the risk that lung cancer

may ...(55)....
41-1) for
42- 1) temperatures
43-1) since
44- 1) limitation
45-1) construction
46- 1) deserved
47-1) debate
48-1) sucha
49- 1) benefited
50-1) absurd
51-1) for
52-1) However
53-1) being appeared
54-1) prevent

55-1) perform

2) in

2) expressions
2) but

2) contamination
2) distribution
2) adopted

2) deduce

2) so

2) confronted

2) unique

2) in

2) Therefore

2) to be appeared
2) develop

2) follow

3) to

3) consequences
3) when

3) protection
3) exchange
3) combined
3) derive

3) too

3) stemmed
3) proficient
3) from

3) Besides
3) to appear
3) occur

3) interpret

4) of

4) proportions
4) so

4) implication
4) expense

4) released

4) demand

4) very

4) generated
4) tactful

4) to

4) Otherwise
4) appeared
4) treat

4) detect
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Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing the best
choice (1,2,3) or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1

The old view that every point of light in the sky represented a possible home for life is very foreign to
modern astronomy. The stars have surface-temperatures of anything from 1,650 degrees to 60,000 degrees or
more and are at far higher temperatures inside. A large part of the matter of the universe consists of stellar
matter at a temperature of millions of degrees. Its molecules are broken up into atoms, and the atoms broken
up, partially or wholly, into their constituent parts. The rest consists, for the most part, of nebular gas or dust.
Now the very concept of life implies duration in time. There can be no life- or at least no life similar to that we
know on earth- where atoms change their makeup millions of times a second and no pair of atoms can ever
stay joined together. It also implies a certain mobility in space, and these two implications restrict life to the
small range of physical conditions in which the liquid state is possible. A survey of the universe has shown how
small this range is in comparison with that exhibited by the universe as a whole. It is not to be found in the
stars, nor in the nebulae out of which the stars are born. Indeed, probably only an minuscule fraction of the
matter of the universe is in the liquid state.

Actually, we know of no type of astronomical body in which conditions can be favorable to life except
planets like our own revolving around a sun. Even these may be too hot or too cold for life to obtain a footing.
In the solar system, for instance, it is hard to imagine life existing on Mercury or Neptune since liquids boil on
the former and freeze hard on the latter.

56- What does the passage mainly discuss?
1) the possibility of life existing on certain planets
2) the necessity of a liquid state on planets
3) the improbability of life in the universe
4) the varied matter which exists in the universe
57- In the passage, stars are described as ... .
1) having changeable temperatures 2) being destroyed by atoms' explosion
3) having stable molecular matter 4) consisting of gases and dust
58- The pronoun “It” in line 8 refers to ... .
1) duration in time  2) pair of atoms 3) mobility of space 4) concept of life
59- It can be inferred from the passage that life in the universe ... .
1) could exist in stellar matter 2) requires special conditions
3) can evolve from atomic mobility 4) emerges from the nebulae
60- The word “minuscule” in line 11 is closest in meaning to ... .

1) compact 2) small 3) uncountable 4) partial
\ /
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N

Seventeenth-century houses in colonial North America were simple structures that were primarily
functional, carrying over traditional designs that went back to the Middle Ages. During the first half of the
eighteenth century, however, houses began to show a new elegance. As wealth increased, more and more
colonists built fine houses. Since architecture was not yet a specialized profession in the colonies, the design of
buildings was left either to amateur designers or to carpenters who undertook to interpret architectural
manuals imported from England. Inventories of colonial libraries show an astonishing number of these
handbooks for builders, and the houses erected during the eighteenth century show their influence.

Nevertheless, most domestic architecture of the first three-quarters of the eighteenth century displays a
wide divergence of taste and freedom of application of the rules laid down in these books. Increasing wealth
and growing sophistication throughout the colonies improved the design of the houses, whether the material
was wood, stone, or brick. New England still favored wood, though brick houses became common in Boston
and other towns, where the danger of fire gave a motivation for using more durable material. A few houses in
New England were built of stone, but only in Pennsylvania and nearby areas was stone widely used. An
increased use of brick in houses and outbuildings is noticeable in Virginia and Maryland, but wood remained
the most popular material even in houses built by wealthy landowners. In the Carolinas, even in closely packed
Charleston, wooden houses were much more common than brick houses.

Eighteenth-century houses showed great interior improvements over their predecessors. Windows were
made larger and shutters removed. Large, clear panes replaced the small leaded glass of the seventeenth
century. Doorways were larger and more decorative. Fireplaces became decorative features of rooms. Walls
were made of plaster or wood, sometimes elaborately paneled. White paint began to take the place of blues,
yellows, greens, and lead colors, which had been popular for walls in the earlier years. After about 1730,

advertisements for wallpaper styles in scenic patterns began to appear in colonial newspapers.

61- What does the passage mainly discuss?

\

1) the improved design of eighteenth-century colonial houses
2) a comparison of eighteenth-century houses and modern houses
3) the decorations used in eighteenth-century houses

4) the role of carpenters in building eighteenth-century houses

62- What was one of the main reasons for the change in architectural style in eighteenth-century North America?

1) More architects arrived in the colonies.
2) The colonists developed an interest in classical architecture.
3) Bricks were more readily available.

4) The colonists had more money to spend on housing.
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63- The word “divergence” in line 9 is closest in meaning to ... .

1) description 2) development 3) difference 4) attitude

64- The author mentions elaborately paneled walls in line 20 as an example of ... .

1) how the interior design of colonial houses was improved
2) why walls were made of wood or plaster
3) how walls were made stronger in the eighteenth century

4) what kind of wood was used for walls after 1730

65- What does the author imply about the use of wallpaper before 1730?

1) Wallpaper samples appeared in the architectural manuals.
2) Wallpaper was the same color as the wall paints used.
3) Patterned wallpaper was not widely used.

4) Wallpaper was not used in stone houses.

PASSAGE 3

Recently, psychologists at some leading universities have looked at what “luck” really means. They found
there are three types of situations that people usually associate with luck. The first is circumstance, such as
being born in a wealthy family or inheriting athletic genes. Obviously, this type of situation is beyond anyone’s
control—people can’t change the circumstances of their birth. The second is random chance events, such as
rolling dice, which are also beyond our control. Your chances of getting a seven when rolling two dice or of
being hit by a falling meteor are based on statistics. The third type of situation includes events such as getting
your dream job or meeting your ideal spouse. It is in this third area that researchers say we may be able to
have more control over our luck.

A professor from England, Robert Wiseman, believes that people can influence their own luck in good or
bad ways. Wiseman did a series of experiments with people who believed they were naturally lucky or
unlucky. He found a clear connection between the attitude of the participants and the amount of “luck” they
had. He found four important attitudes and actions of “lucky” people. First, they are open to opportunities and
make the most of situations that arise. Second, they trust their intuitions and often make decisions based on
them. Many meditate or do yoga to help keep in touch with their intuitive senses. Third, they think positively
and expect good things to happen. Having a positive attitude means they smile and laugh more, which attracts
others and may create opportunities. Fourth, lucky people tend to focus on the good in each situation, whereas

negative people tend to focus on the bad side. Finally, lucky people typically don’t give up easily.

N
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Professor Wiseman also trained people to make themselves luckier. He asked them to keep a journal and

write down only the good things that happened each day. After several days, people who used to feel unlucky

began to see themselves as lucky, and those who originally felt lucky thought they were even luckier.

66- Why did the author write this passage?

67-

68-

69

70-

1) To entertain readers

2) To persuade readers to try positive thinking

3) To advise readers how to be lucky in games of chance

4) To inform readers about the connection between attitude and luck
The underlined word “them” refers to ... .

1) intuitions 2) situations 3) opportunities
According to the passage, Robert Wiseman ... .

1) claims negative people can never feel lucky

2) studied the behavior of lucky and unlucky people

3) found that most people are unaware of how lucky they are

4) believes there is no way to change people’s attitudes toward luck

4) decisions

According to the passage, all of the following are characteristics of lucky people EXCEPT that they ... .

1) look on the bright side 2) trust their gut feelings

3) try not to miss opportunities

It can be understood from the passage that the writer is likely to ...

1) consider himself a lucky person
2) believe people can create their own luck

3) doubt that we can have control over factors affecting our luck

4) do yoga to lose their sense of reality

4) believe there’s always the same amount of good luck and bad luck in the world
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